
Series: OSR/I
6ts+.
Code No.

Tfi-YrRrSrS{q-Ys
werq{qflfld I

candidates must write the code on
the title page of the answer-book.

67n12

+€i.
Roll No.

-

r gqqr+qE{dt*'csqfi-Td{nkegete t I

r cn-q* { slf6+ arq qt qtrflss.rs+s'{q{ftl Er* 3-tn-gks,r * W-gractfud r

o Fqqrqiqwdt+ fsc{{-.Hi 25 cF t I

o ifrFlr r$I r5't r*rfrc<r vgmr] * qr&, cf{ 6r Fcis' efarcftrd t

o g5r lr{;r-w 6) 116+ + fus 15 ftffs 6I {qq ftqI IIqr t I E{-{-c, s,r fuftur fqt({ { 10.15 {q
i6qr qfu I 10.15 qq t ro.:o vi n-o or* *-*o ylq-q si cin oil{ w ficfrr + qtn +
s+r-gflw*r qr qlt et-trcT fudii r

o Please check that this question paper contains 16 printed pages.

r Code number given on the right hand side of the question paper should be written on the

title page of the answer-book by the candidate.

o Please check that this question paper contains 25 questions.

o Please write down the Serial Number of the question before attempting it.
. 15 minutes time has been allotted to read this question paper. The question paper will be
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ACCOUNTANCY
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<rqrqfrrtu:
(i) c€vw-w#qwffd'fu?ffi*- qsak'u. t

(ii) wTTsq?sFff+fuvaffit r

( iiil ct}ettfrqf ql $q rzr s,r*. rr C + filf frq'/r7 Ea fi-.fl t /

ftv) ffitw**nf vr'i#rrrgra?snwfufuv r

General Instructions :

(i) This question paper contains three parts A, B and C.

(ii) Part A is compulsory for all cand.idates.

(iii) Candidates can attempt only one pan of the remaining parts B and C.

(iv) All pans d the questions should be attempted at one place.
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PART-A

CqrffiqqtHsrmue<qi*,6u*
(Accounting for Partnership Firms and Companies)

l. slt (rfi st{c q-dqq ffi frq 'nfrTfr orftrffT' + sq { srq tmrfrr qr eqqtrr fuqt qr

Tsmt I

Give any one purpose for which the amount received as 'securities Premium' may be
utilised.

nerkq-t I go sriff*wtrftr+rfr v.4 aft er6 g g*r * + o{Rr-srfr H} Ei'A t ?

Why heirs of a retiring / deceased partner are entitled to a share of goodwill of the
firm ?

rtur fui ga ff 6l qi ft1 t*.s etro-fi {rfu il{r !F: frrifoe fuqr qr qs-dr t r
What is the maximum amount of discount at which forfeited shares can be re-issued ?

'{rIq:I'i6r e{Tdqs r

Give the meaning of 'Debenture'.

gff+f Ebi qq ol+ *' s{rqr tr{ 'sr*crft S qqrrn, f,qT .sr*qrfr q4 * qqrqr, { or<+{
+lfus r

Distinguish between 'Dissolution of Partnership' and 'Dissolution of Partnership
Firm' on the basis of closure of books.

6. rqq, srt dqr +s {rfrrt + dqr ;, 3 e * + e-1v'd + errr} or falqm w rt t r qk i-s v,C'

+ tqtkStr Etdr td iq ttffi +aq ertqn +1 rrur* dlqq r

X,Y andZare partners sharing profis in the ratio of j, 3 *o * Find the new rario of

remaining partners if Z retires.

7.'cssffi s{+g+,i-c+ twr eF{cmt I
What is meant by 'Reconstitution of a Parffrership Firm' ?

-r.

4.
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8. ++ fufuLg+ r 3r*fi, 2012 +i < 100 ydq.+ 2,000, nqawtd +r trriqa fqqr r trdq-t
qt yoi sq + qFmr gcn r frrirt #r rrd1 + ergvn zurrit qt qrq e"Jiqr&{r srrrrr rR 30

fotrqt aql s r qrd' q] tq rlar t eqr *a q{ s"r +1 szt+ l0zo t r

3 1 qpd, zo I : 6i {qrq Et+ qA qrffir + frq qrq t sefria' aql zurrr=ji qr qlfrs' qrq
+) em-afr ke{q q sarrfta +.ri +1 !qTqv++''+{flTqr qfrM +lfi{q r

BG. Ltd. issued 2,000, 127o debenrures of( 100 each on l't Apil2012. The issue was

fully subscribed. According to the terms of issue, interest on the debentures is payable

half-yearly on 30fr September and 3l't March and the tax deducted at source is 107o.

Pass necessary journal entries related to the debenture interest for the half-yearly
ending 31't March, 2013 and transfer of interest on debentures of the year to the
Statement of Profit & Loss.

vet'* rni Clq c+' qd ii srf{R t dqr z : 3 * er{qn { crrit er rfrcqni w rt d r e++1 {*
fi'rwT. < 2,00,000 flqT < 1,50,000 * r r orlm, 2013 si s€l+ €rRfr 6i,{r* HF{i t }.rm +
faec6'rs{rffi}sc{}r&{Tfcqr r orftfr t t,oo,ooo{S* w{ar$ rq,ds1qlfr
e;r qeis{ ql&e Hqr e{Rfld +r+{r c-r sqtffi ffi +frs erevrrm +firmT qfrM
dlqs r

Saloni and Shrishti were partners in a firm sharing profrts in the ratio of 7 : 3. Their
capitals were t 2,00,000 and ? 1,50,000 respectively. They admitted Aditi on l"t April,

2013 as a new partner for I sfrare in future profits. Aditi brought { 1,00,000 as her

capital. Calculate the value of goodwill of the firm and record necessary journal

entries for the above transaction on Aditi's admission.

10. ffifud qftffi { .a{qqr*'+s{rrqr yfrM *lfrq :

qrct frt+s + < 100 u-+s' + 2500, t2vo zorcii, k{6r ftriq 67, s} .R tfiqr mr
qr, o'r yNH ES t too sdar+ w-dr CIivil { qfttqfi-d 6{+toqr r scff rfvil *l zsz
o{Rretq r{fuikfr fozn rrqr qr r

+{ frflcts' + 1 1 66 y$r' * 2000, tzrto aotcF}., &iEI frrtT{ {qT€ w fr'qrr+ qr,

ml yhn rt t too u*o*'qrm oiyil d ctsfril +t+P+.qr r qqar iivii 6 ff:rt
257, srtrffTq{fu.qTrrql qT t

Pass necessary joumal entries in the following cases :

Pharma Ltd. redeemed 2500, 12Vo debentures of t 100 each issued at a discount
of 6Vo by converting them into equity shares of ? 100 each issued at a premium
of25Vo.

Jain Ltd. converted 2000, 127o debentures of ( 100 each issued at par into equity
shares of ( 100 each issued at a premium of 257o.

9.

3

(i)

(ii)

(i)

(ii)
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11. rrs{fufu}ss1g{ffiiqfrq+ih}+ks srrqrqs.+tr{rffi ntqMdeq : 4
(s0 {rt-{ kfu}s+ tra Pdfr}st ( 7,20,000 si qyfla +r x'q fuq r -i;<t frfu}s+i

1 1 
gg v-+fi. +' qrrdr ;rivil +i toz, * € qr frrifuo mS grrcm fuq rrq t

G) rrqq frfuIsi fu+rs frfr}s+ t 2,50,000 ftt rtf$ ffi gs.qrqqEnlrq sSqI t fus+
t 2,20,000 fi glar t 10 n-+s'*- Ei x< vmr ifvit er*r il{r *s {ftr qr do'9r€
artq qr rqqffinqrtqtr(frqfrfcn+HqFcrd + :

"ar=s \.q q{ftTft I 90,000; qqq t 90,000; frErr i-rqr t 30,000; eio't 50,000;

r)'+s < zo,ooo; frt*+ *rsR < 2o,ooo I

Pass necessary joumal entries for the following nansactions in the books of Rajan Ltd :

(a) Rajan Ltd. purchased machinery of t 7,20,000 from Kundan Ltd. The payment

was made to Kundan Ltd. by issue of equity shares of ( 100 each at 107o

discount.
(b) Rajan Ltd. purchased a running business from Vikas Ltd. for a sum of { 2,50,000

payable as < 2,20,000 in fully paid equity shares of { l0 each and balance by a
bank draft. The assets and liabilities consisted of the following :

Plant & Machinery ( 90,000; Building t 90,000; Sundry Debtors t 30,000;
Stock t 50,000; Cash ( 20,000; Sundry Creditors < 20,000.

12. elq-+ sc.+.s. Xft ori * qE rff{,T qd Vtvfr t qqrq { orfi-o sq t qq*r q,l *'fus tst
q+ qr+ Mr et eq.ii sT fuqluT +d S loe \.s qdErfr q-d YJ6 s,ri q1 tpfq fua 1

s6a1q { {dt +) k-{r {-+ + sr+fi * 6q it v,d { sfrq +.tr+ +1 3{q-+ EBI rt q< *1 r

X+ Es+t frSq Fq + +q dfur sreftr*. Vwroo qd Ektrq fr" t I St{fr + sS *sR
*rlfiql r t qfia, zotz+itTqfufufrqai.Rs{t+sraErtEnrtTqioltsqr : 4

(i) {* * sq it vc-trq < 4,00,000 ffir St{ft ( 2,00,000 6rrgr I

(ii) Rcrc, Et{fr Ei{r gffi z : z : t *'wgrc it anii o'r rirqrr Eti r

(iii) t+ q{ 670 qr&oq-r t qrE kqr qrqqr I

tS +1 *,S *onq 30 fudq{, 2012 E} vtr{rc + < 50,000 EqI t s-{at, zot: E} EM +
( 20,000 d qfrfrfi fS f,'Iri r 31 crd, 2013 6i smq EH srd s{'*'faq qd +l am
t 3,37,800 qr I

(e0 t+ +6qi {€ qtqflrqS sd {Hq oi sdftn qm qrc$ t t

(e) rt qrd', zot: +iqqrq ttiqrds{ +fus'an+-arfr frFr*q< qlflT' +cRdfrq I

Satnam and Qureshi after doing their MBA decided to start a partnership firm to
manufacture ISI marked electronic goods for economically weaker section of the
society. Satraam also expressed his willingness to admit Juliee as a partner without
capital who is specially abled but a very creative and intelligent friend of him. Qureshi
agreed to this. They formed a partnership on 1" April 2012 on the following terms :

(i) Satnam will contribute t 4,00,000 and Qureshi will contribute t 2,00,000 as

capitals.
(ii) Satnam, Qureshi and Juliee will share profits in the ratio of 2 : 2 : 1.

(iii) Interest on capital will be allowed @ 67o p.a.
Due to shortage of capital Satnam contributed-( 50,000 on 30ft September,Z}l2 and
Qureshi contributed ? 20.000 on l" January, 2013 as additional capitals. The prolit of
the firm for the year ended 3l't March, 2013 was t 3,37,800.
(a) Identify any two values which the firm wants to communicate to the society.
(b) hepare Profit & Loss Appropriation Account for the year ending 31"' March,

2013.
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13. krc, fqsrE q+ ltcr \rfi q{ ii {r*'ffi * aqt m'qv, 5 : 3 : 2 *- sf,tcm { dr$ + funkc qT

rtt r :r qrd, zor: *1sr+rffi-fufiqtrqfrfu6qr'
:r qrd, zorr otfqrE, fqvrE\,?itqrmfuFdf{flrrr

ffi. Trtir
?

vqffi rrt$r
?

5rt:fu{E 3,oo,ooo

frltE 2,5o,ooo

+cT 1.5o.ooo

r4au qlu
+rsR

7,00,000

60,000
1,10,000

ITfi
q{frnl
tk
6*^
tisr
+s-s

2,00,000

3,00,000
1,10,000

1,00,000

80,000
80,000

E,7o,ooo 8,70,000

I 2013l3f,q-d{,
t+-:

(sD v,4 +1qrfr or teisr M +{ sqi * st{rd fi'T *- z} a+ + ml * er+r d,n r

qt+mmq t 1,5o,ooo qT 
r

G) {tfrcr tozrqtfr6rq{{qmkqqg.n 1

CH) q{ zor:-r+ * m,T Ei trcd s{ ft1 <t + erSsn er&n qil qrg,n * f*. t t,so,ooo
qTr

1 srw{, zo r r o} furq * et-nffi oi rqc t*u vrt arer f+<< *r {S erar tqn d&q r

Virad, Vishad and Roma were partners in a firm sharing profits in the ratio of 5 : 3 : 2
respectively. On March 31,2013, their Balance Sheet was as under :

Balance Sheet of Vishad and Roma as on March 3 2013

Liabilities Amount
( Assets

Amount
t

Capitals :

Virad 3,00,000
Vishad 2,50,000
Roma 1.50.000

Reserve Fund
Creditors

7,00,000
60,000

1.10.000

Buildings
Machinery
Patents
Stock
Debtors
Cash

2,00,000
3,00,000
1,10,000

1,00,000
80,000
80.000

8J0,000 8.70,000

Virad died on October 1, 2013. It was agreed between his executors and the remaining
partner's that :

(a) Goodwill of the firm be valued at I Vearspurchase of average profits for the

last three years. The average profits were ( 1,50,000.
(b) Interest on capital be provided at l0Vo p.a.

(c) Profit for the yeat 20L3-14 be taken as having accrued at tlre same rate as that of
the previous year which was ( 1,50,000.

Prepare Virad's Capital Account to be presented to his Executors as on October 1,

2013.

67nt2 5 IP.T.O.
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14. l o+ii, 2012 qi t so,oo,ooo 61 oiRrfa {* * sm q661 ffi}s +r frqtq fuqr {qr S
t s0n++.+ 1,00,000 dviitimrmo qt r q.qS+ 90,000 rJi{il+fucsfu{ruriT{fird6{
rr{-n q* oTFikd tss I fuiq ftra yqpt tq qr,

sflTfiq{ : { 15

efldacr : T2o
ztFmrtt : liq cf+trflvr

fr,fr{q'{Wi qFr<r"gerr eilr*.rv'4 1*qn#R}6} siviiqr emirtsrlEqr rq{*.slin
+.q++q"qT{ftT.rrTfrfr r

frefufuas{i{s:
(sD m,q$ otfufiqq, rsso +t cfrldftffi eruft u, qiqJ *. qtqR qrur+ + fuifr k*<q {,,t'vr{*, 

r

(e) s$+fds'qrfli++e-{' s+ffiEg 
r

On l't April, 2012, Ialta Ltd. was formed with an authorized capital of ( 50,00,000
divided into 1,00,000 equity shares of ( 50 each. The company issued prospectus
inviting apptcations for 90,000 shares. The issue price was payable as undei:

OnApplication:{15

OnAllotment:t20
On Call : Balance amount

The issue was fully subscribed and the company allotted shares to all the applicants.
The company did not make the call during the year.

Show the following :

(a) Share capital in the Balance Sheet of the company as per revised Schedule - VI,.
Part-I of the Companies Act, 1956.

(b) Also prepare 'Notes to Accounts' for the same.

15. erqa, +,flrtnurqlfoq\rqrs{ +rrrfqrts}ErgT{qiu1 $q.rtr qt ri s : 3 : 2 *-
ordcrfr + arqi orieqm rt r* * r r eTF€, zorz 6i ts-i-+1 {* *qqT. < 1,00,000,
t 1,50,000 deTr ? 3,00,000 + r enriqe it q6 3Tr+ * qn e*+ Hffit i efurp6 6o q *
frH *1 mrqar od qr trotq fuqr r

gs66qq-5-di 1fudq{, zorz o}qdt ( 20,000ftr qE{oTfuqT r+rtcriqdtr}*-s
qrr qrtruT m-{+ sl qitn r z+,ooo *' grs rera cEr{ lds efu er6 frH { s-+ d..c ftlr r 1rftqt{ 6rfuq + r q-fifr, zor: s} o{q-+ TS + t 1,00,000 6.r errrur t*-qr q}t er-r mrts-c-etd
+ iksd Efqr{r( y-qm +d *- fuq s-s qa+-firrd iiss-d *+ t * r

vffi {*u * a-gvn e{rflur q{ qH 67, 6} <t g q." frqr qrqrT I sifrq Eri iqr 6{+
*'sK q6 crqr .rqr fs' sn6iur qr qrq rd Frrrrqr rqr r enqvqfi.qqf+q{ yfrfu +1Hq nqr
6r{' M +i sq sq t qyfqs I tA qt {.e} sr E6+s "t dres + + {reER wcrq +
qqrvotF-r+qrrat 

r



Abdul, Kadir and Kasim were partners in a firm supplying food items. They were
sharing profits in the ratio of 5 : 3 : 2. Their capitals on lil April, 2012 were
{ 1,00,000, ( 1,50,000 and t 3,00,000 respectively. After the floods in Uttaranchal, all
partners decide to personally help the flood victims.

For this Abdul withdrew { 20,000 from the firm on l't September, 2012, Kadir instead
of withdrawing cash from the firm took some food items amounting to { 24,000 from
the firm and distributed to the flood victims. On the other hand, Kasim withdrew
t 1,00,000 from his capital on 1" January, 2013 and provided a Mobile Medical Van
for medical facilities in the flood affected area.

The partnership deed provides for charging interest on drawings @ 6Vo p.a. After the
Final Accounts were prepared, it was discovered that interest on drawings had not

. been charged.

Give the necessary adjusting journal entry and show the working notes clearly. Also
state any two values that the partners wanted to communicate to the society.

t6. qriaaqrqr+r;a\rsq.dii{r+fit r :r qr{, 2613 q}3a51fiffikqrurfrsrr*r{qr : 6

: r qrd', zo rr 6i wiil itctr rqRsrET 6T ftrfr fril{sr :

W {Ifrr
(

(Effi ffir
?

+{qR

6{qfieftqftfiRr

wia6Iqrq€rfrr

ffi:
q?ifr

{qrfil<

75,000

45,000

15,000

3,00,000

2,00,000

-\-qq,

tiqR

ia{s'

q-{f{r

q{fr{t

{qrfl<TiF,rsrqclrdl

70,000

2,00,000

20,000

20,000

3,12,000

13,000

6J5,000 6,35,000

BTiqfl frfu s) sd 6y qqrq{ Ei Tqr .

(D q?id i Eis'fi 497, {s+ g{Ts"qiv t zoz, Ec {€ cr + fur u* qq go *t
t 15,000 { isfrcrrrcT I srtfi + t 20,000 yrkTEq I

(ii) qo{qfu si ftil{-sr+eI gw"1{ rfi fuqr.rqr qr, { 3,000 {fu fls-cl.rcr r cyftrt
+i < zs,ooo qiaftR+srrrqr 

r

(iii) faqr} tr t 10,000 +slr{crtflqi g€ r

(iv) q1q6 q;1 * 66 3{{fl qr Frs+ lag < :e,000 fi TrdH 6r l(qT Tcr I

ffiunri+ndfa< |
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Jayant and Ramakant were partners in a firm. On 31't March, 2013 their Balance Sheet

was as follows :

Balance sheet of and Ramakant as on 31

Liabilities
Amount

( Assets
Amount

(
Creditors
Workman compensation
Fund
Jayant' s Cunent Account
Capital's:

Jayant
Ramakant

75,000

45,000
15,000

3,00,000
2,00,000

Bank
Debtors
Stock
Fumiture
Machinery
Rarnakant' s Current Account

70,000
2,00,000

20,000
20,000

3,12,000
13,000

635,000 635,000

On the above date the firm was dissolved :

(i) Jayant took over 407o of stock at 2ovo less than its book value and the remaining

stock was sold for ( 15,000. Furniture realized ( 20'000.

(ii) An unrecorded asset was sold for ( 3,000. Machinery was sold at a loss of
t 75,000.

(iii) Debtors were realized at a discount of { 10,000.

(iv) There was an outstanding bill for repairs for which ? 38,000 were paid'

Prepare Realisation Account.

17. \'trsr$+stdfrIsi t roon**'*40,000wrf,I ei{ils} oz, *<}wfrrifucod*flae
snlqa eirqh( m r nftr fuq n*,nt tq * :

qrls-{ffir e[FiFq{- t 90cfu 3i$

serEr iMr e{kq qrfiI q{ - is tFRrfrr

60,000 siYil + fuc qr+fi fiq Es I 10,000 ffi + 3{rH 6} rr 66r f<<l rrcr I is 3{**St

+i e[r{crfuq' srrrRw ei{ii q'r sir.i'cq fu-cr.rqr I e[r+fi dql qrdzq q{ qIEil 3lftfrff t]-{ {rftr
q;r qqi+q-{ nEq gi eikq qrq-+ rn iq ntvr it u'r frqr rrqr r *rft q--.1 11frr dm et,r* qt t

\rq' si{tllrq'ffi 50 siYit +ftq 3lr+fi fuqr qr, vEc si irifuq qrq+ nfrr q'r Vnn reIq'r
qrqr r gs*-eivil qr rrq 6{ fuqI rrcr I E{sI fu+ T+ d{il fti t 97 qfr rfu At u-ct gt'
frrit*iwkqrrqr t

Bq+ff ffi + frq (rw qr$ +s tdfu)s 6i gw+i { errtrvq+'t*nrsr sfrfuqi dfrq t

qqql

c'.+. ftfi{}s + 1 1so n-+dE'+' 7s,000 wm 3iYil s} < 30 efr sivr + frfrqq q{ futfird ol+
+frq sTr+qq qdkd H r nftr frq v-+nt iq 4 :

.zcr+fi nm entirq qt - < 85 cfr d{r dfrcc sko
vqq (qr qkq qrirfl qt - ris tt-flfrr
1,27,500 eivil *. fuc enls-{ Yrq Es I 27,500 si{it + €nH +} rr +r f<qr Tqr-r-*q
qi+quif + erq*fuoenunw.tut# qrizrfuqrrrqr I sn+({ffir e{Fiawsro' qfrfrffi
qilftT sI aqdq" sEq \,?i €{frq qfir w tq rtfl{r ii qt fuqr T cr r s$ {s-{r {rfu qtT ?ft

.rd S r \'s tliflqr.s'ffi tooo 3ivil +frs eff+sa tscr qI, vrTc ilTI sikq qq<t {ftI sT

qrrcn a-fi ot ur+ r ss*. ei$ +r arq fir kql rFfi I 6rur f6+ rr+ rf{il s} { 150 sfr iiivr

rytr<t5t, fuifo651frq1rs 1

irm +A+ + fuq s.*. tdfuLs 
"i 

gs*l { errqvrm r}q-{rr{r qfrkqi dks r
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18.

XyZ L/.n. invited applications for 40,000 equity shares of ? 100 each at a discount of
6Vo. The amount was payable as follows :

On Application and Allotment - { 90 per share
On First and Final call - the balance amount.
Application for 60,000 shares were received. Applications for 10,000 shares were
rejected and shares were allotted on pro-rata basis to remaining applicants. Excess
application money received on application and allotment was adjusted towards sums
due on frst and final call. The calls were made. A shareholder, who applied for 50
shares, failed to pay the first and final call money. His shares were forfeited. All the
forfeited shares were re-issued at ? 97 per share fully paid up.
Pass necessary journal entries for the above transactions in the books ofXYZ Ltd.

OR
AB Ltd. invited applications for issuing 75,000 equity shares of ( 100 each at a
premium of ( 30 per share. The amount was payable as follows :

On Application and Allotment - ( 85 per share (including premium)
On First and Final call - the balance Amount
Applications for I,27,500 shares were received. Applications for 27$N shares were
rejected and shares were allotted on pro-rata basis to the remaining applicants. Excess
money received on application and allotment was adjusted towards sums due on first
and final call. The calls were made. A shareholder, who applied for 1,000 shares,
failed to pay the first and final call money. His shares were forfeited. A11 the forfeited
shares were reissued at I 150 per share fully paid up.
Pass necessary journal entries for the above transactions in the books ofAB Ltd.

qlet nqr qtvr C-+,'.Fd ii Hrfrfi t d dFIi qi : : Z *'a-1q6 { fu{reil *.e t r r er}e,

20 l 2 s) T$rd s) s<ii s-s' tr+fi * sq ii qf { y-fu tqr r sS ialq +i dEr dqT qt{T 6r
ffik*ruTfrqr{srcEr: 8

r Erra, zorz oT *fqaqrcirTET fr.effiriT{TUr

W {
TIftT Eqfuqi ffir

t
Aq-fl
s4iltqftrffifrFr
qrqrqriqq

{rt:
d€n r,oo,ooo

ci{r 80.000

2,10,000

2,50,000

1,60,000

1,80,000

ERg{ts-$
trER
d+'
qvfri+

1,40,000

1,60,000

1,20,000

r,00,000

2,80,000

g,oo,ooo 8,00,000
q5frofq gento:

(i) rqq dqr €iEE6r {er iFrM: < 3,80,000 dqr < 1,60,000 (dE' q6rcr qr'E I

(ii) sCsrft flfrqfr frfu o,r srfTd { 2,30,000 trkqr B-qr rrqr 
r

(iii) Ts.d qq-S Eqlfla * qFr * frq < 1,00,000 TT( d6 |
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t
(iv) sr{iffi tFt€isi Ri {trffi 6} 61} + qqsq{s.d ai S{: WS q.r< {Iftr ar* t

fu 3a-dht {S dEa qq ct{r +i riTff {fr * zoz, *' enqt r} vr< r

(v) qr4mq-frqr*q erlvrcfrar*nw , *etli rm.tivrfu.n'ravt5**p o* ,

T{t€i*l qrdr, Hffi +TS Er+ nqr qS q{ sr tsfr frewr +qK qieq r lvre rm eri
,ri ifr aii wr+ S wtasq t <vri-sq r

sTsrqt

Evm, VcR dqr Ekdr \r+' q.d { $+qr{ + q} dtdi 6t 3 : I : I *' wlvra { f++tflwt s'.ti t t

t r[+d, zorz d r;r+r fi9fr k+tq frq nfiR sfl :

t -+-zo t z tl gvra, 5irrcaur af*ar m ftft tr*wt

imr(' rrftr
?

rgqf*d rrfrr
(

+{c'rr

ickd
qrqrqriqq

ifr:
Tvm 3,00,000

TcR 2,80,000

Ht{dr 3.00.000

1,20,000

1,80,000

1,20,000

8,80,000

++g

i-firt 2,oo,ooo

qeT: u-qqH 10.000

€iq,,

s-{f{r

lffi{

Tfu

70,000

1,90,000

2,20,000

1,20,000

3,00,000

4,00,000

13,00,000 13,00,000

sr+fffrfu6tsf+dr i effisryrwqtsqr f,qr fiqttolqftqrri :

(i) $d+letfr ff q:qisrl4g,gggfsqrrcr r

(ii) Sfu 6,r{€ 307o qeiqlqr+IIIdsn qimrR ( 1,66,900 d {a{6rqFTrIrqI qIEII I

(iii) $itd{+Tqii < zo,ooo *1 **siqr+fr |

(iv) q*a aur {qq +} ( ts,ooo cd6''qdrqr qKrII I

(v) 6tcil 6i tq nfvr or 70vo 411 ynm to<r qgrfl inn {is {frT ss$ aur erit t
rqTfl<fra*t+qrqt I

(vi) gvm nw grn +1 iS r+Stt eu q-{qrd { A+ t <Rrtbi$ ue} { *t$ emtrq
l *.S tfr utr*l qm+fi q(en} *qnaq t Gnqr qqr t

ga{gai*a rrq Hffit + {* qrn aqr +fun *' er+opr qrq sri + q{rflE Tflm ffiI gicTr
q;rfisfrk+tErfuEdfqq' 

r
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Flfrr,:irfffjl [T:,BTT,:*jl lP:ly,p pronts in the ratio or 3 : 2. onU"rr*rl'*:li;;":g.Ji? ji:,i:;i::-#dg1sl;:T#{[:ff i"rl'i3,?]Mohan and Mah"rri on tr,ui"ait"'ffi ;Ji,rtJ,l
Balance Sheet of Mohan anl Mahesh Itt

General Reserve
Capitals :

Mohan 1.00.000
Mahesh 80:000

aS On l-- Arrril ,t 11t
Amount

? Assets Amount
?2,10,000

2,50,000
1,60,000

r,80,000

Cash in hand-
Debtors
Stock
Machinerv
Building '

1,40,000
1,60,000
1,20,@0
1,00,000
2,30,000 l

I

I

8,00.000 I

8.00-oo0
It was agreed that :

on l't April. zoij *,ii, il.rr"re 
Parurers ur a rrm snan

Barance sheet nr x,,.r,^i 
tl,:::t::: 

i9l-l".Yt ,
: I : 1.

.rf tz

Liabilities

Capitals :

Kushal 3,00.000Kumar 2,g0.000Kavita 3.00:000

Creditors

\urual- a[(I 
^avlEl 

9s on I t,tr a
Amount

? Assets Amount
(

8,30,000 I

1,20,000
1,80,000
1,20,000

I LaSn

I Debtors 2,00.000
I Less : Provision 10.fi)O
Stock
Fumiture
Building
Land

70,000

1,90,000
2,20,000
1,20,000
3,00,000
4,00,000

&pq,0m-
13,00,000\.,rr ure aDove date

ir,-i,"::^4r,ii"F,f :,ffi.e#m

(i) 
H;.:lTfft Building and stock be appreciated to ? 3,80,000 and t r,60,000

Ilij, 3" tiabilities of workmen.s compensarion tund was d,

llli ilnf:y:"rgl,.:_n-"filare or soodwil ? 1.00.000 in.etermined 
at ? 2,30,000.

(iv) Nusrat *as io u,i,e tu;ilEl,h3!ljf,i.:,Hi.:T#.#n 
equar to 20vo of the

;Ht#XlTfijroIMohan"noMur,",r,u?.,?i.Ji'J,!"u,,u,tonandadjustmenrs
(v) The tuture profit sharin: yo will be Mohan fl, Mahesn fl, Nur.ut ]*.*rffilil3}flf# f#!;T t-qt'l's capirar A"..o,,t, and Barance srreet of the

Ix,i,rifJitrt.,#*H**,.{*'""Hl,'ffi;:H',;l:;i;";"

ll:] iTsr3ffi,' 
u. .pi,",li.l;ffi;"#J#tbuilding was to be depreciared by

I,Ti N&T"?1JlH,x,T,yfi 1." H#r,:::.,3,. 1,,.8ff
:] if:':ljx1Jfl?Ti*{::'".,i?."ilil iJ;I?;a in cash and the ba,ance was

'', Lifl,lTnlrrt$ini;If.Irmar wiil be.in proporrionro their neqprofit sharins

- thr"rghG;;1'a:.J-i'j: tr anv in their Capital ettounit'*itfll;jffJf
tr*fl,j:?",?i:lp;"ffTlt;"r##:,s capitar Accounts and Barance sheet of Kushar

67nt2

tP.T.O.



$TFt - ET

PART-B

ffiaffiarffisuD
(Financial Statements AnalYsis)

ts. .ffi fu*tgil +ffiqq, qi ffi q-o$qr sT Edq Blfqq I

State any one limitation of 'Analysis of Financial Statements'.

20. rt*-scsr6kq{ur q-ffe qrq'+wqqqe' or wr e{ t t

What is meant by 'Cash Equivalents' while preparing Cash Flow Statement ?

2r.'rt+-su-{6fu{rur e-{r+*dflq qleded&q t

State the objective of preparing 'Cash Flow Statement'.

22. +,e-+ slfufrqq, 1e56 ftt {*-vr, qm-I + snli-d tfr ct t*.'{ sq-{fl+$i + er-<'td E{i*
qr(tr:

(i) sqrfrt eilc

(ii) gd3i-$R

(iii) qr+qr+ftd CaFib *kqcrcqH

(iv) or<-*enivt

(v) er6{I-erqlq*sl

(vi) ff-sreftrxur t

Under which major sub-headings the following items will be placed in the Balance

Sheet ofa company as per revised Schedule-Vl, Part-I of the Companies Act, 1956 :

(i) Accrued Incomes

(ii) Loose Tools

(iii) Provision for employees benefits

(iv) Unpaid dividend

(v) Short-term loans

(vi) Long-term loans.
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23. fusr frfuLs +' : r qr{, 201 3 E} qqrfr 
Eq q{ + fiq .erq-6rfr kdrur t .Ee-+roo itm-erfr

kfluricrcdfrs':

ffi{or +e{qr nL2-2013
(

20tL-2012

{
u-qre-q t snq

3T€I 3IFI

Em

14,00,000

4,00,000

11,00,000

11,00,000

3,00,000

12,00,000
tFtct({507o * I

From the following 'Statement of Profit & Loss' for the year ended 3l't March, 2013,
)repare a 'Comparative Statement of Profit & Loss' of Ltd.

Particulars Note No.
2012-20L3

t
20tt-2012

(
Revenue from operations

Other Incomes

Expenses

14,00,000

4,00,000

11,00.000

11,00,000

3,00,000

12,00,000

Rate of income taxwas 5O7o.

f 24. 1'zr1 ffierwnrt,uq-qmrerlwm'+trrunr*1&q:, 2+2
I (
I n. "lr QtltFI?lFI EUI 4,00,000

ffi{on+q-{ 2,00,000
qq<lkd 1,00,000

emoqffi. 7,2OpW
Erqcfrsqfuqi 1,80,000

1e) qr$ ffirls sr srE 3r-{cril 2 : r t r onq qk( sed'e dks fu FTqkfua ffiii *
eqqd'if f0 ek Et fr; 1ii; o$ atfr vr (iii) +t qfiI*+r {fi qq:rT 

I

(1) qtqrkrmqi + t 40,000+t{sT{{fiqfr( q Q cr.ilE+'rs r

(2) *.q+ + t 45,000 sr qrtq{ mc fom I fr*ar *t t ro y-*o*.wrrdr oi{il 6i
qqIF q{ f iFrd c'.rb trrcn an fqqr Tqr r

(a) From the following information, compute Debt-Equity Ratio :

(
Long Term Borrowings 4,00,000

Long Term Provisions 2,00,000

Current Liabilities 1,00,000

Non-current-Assets 7,20,0N
Current-Assets 1,80.000

1367tU2 tP.T.O.



(b) The current ratio of Y Ltd. is 2 : 1. state with reason which of the following
transactions would (i) increase ; (ii) decrease or (iii) not change the ratio.
(1) Trade receivables included debtors of ? 40,000 which were received.
(2) Company purchased furniture of ( 45,000. The vendor was paid by issue

of equity shares of { l0 each at par.

2s. ** frFrls* :1-3-2013 aqr 31-3-2012 +fufr k+rq;i *,rtifq-fit *.qrqrccr+s-se-crkqrurtqTr+1Fq: 6

td{wr +e
{qr

31-3-2013
(

31.3-20t2
(

I. qrdr\t?iW
(1) oivrqflf{&

(eD si{T{+r

(E) lftqftq enRrfl

(2) wrfiqrfua
(er1 {ffiraur

(3) qr(*rdr(
feO qqft-s.iznr(

I
2,10,000

1,32,000

1,50,000

75,000

1,80,000

24,000

1,50,000

27,0N
ctrel 5,67,000 3,81,000

rr. sqffi
(1) w{dqqftrfr

(30 sr+Tqffi
(i) Tdqqffi

6e; er+etr*r
(2) qrq(qftd

(40 ErqfrMrf+1ur$g
(E) rdftcr
(R) qrqrfu*.crffi
((1 tlo-sdqr+figq€

2,94,000

48,000

54,000

1,07,000

40,000

24,000

2,52,000

18,000

60,000

24,0N

17,500

9,500

ir'n 5,67,000 3,81,000

rsrdi*'+S:
*a- r

ffiwr 2013
(

2012
t

*{qgiqrfrfi
€flFd€ Gr{-afr fudror qrr ig r,32,000 24,O00
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Prepare a cash Flow statement on the basis of the information given in the Balance
Sheets ofLiva Ltd. as at 3l-3-2013 and3l_3-2012:

Particulars Note
No.

31-3.2013
?

3t-3-2012
?

I. Equity and Liabilities

(1) Shareholders Funds

(a) Share Capital

(b) Reserves & Surplus

(2) Non.currentLiabitities

(a) Longterm-borrowings

(3) CurrentLiabilities

(a) Trade payables

I

2,10,000

1,32,W0

1,50,000

75,000

1,80,000

24,W

1,50,000

27,W
Total 5,67,000 3,81,000

Assets

(l) Non-current Assets

(a) Fixed Assets

(i) Tangible Assets

(b) Non-currentlnvestments

(2) Current Assets

(a) Cunent-Investnents(marketable)

O) Inventories

(c) Trade Receivables

(d) Cash and Cash-equivalents

2,94,0N

48,000

54,000

1,07,000

40,000

24,W

2,52,W

18,000

60,000

24,W

17,500

9,500

Totel 5,67,000 3,81,000

Notes to Accounts :

Note - 1

Particulars 2013
t

2012
?

Reserves and Surplus

Surplus (balance in statement of
profit and loss)

t,32,0N 24,0N
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llm-It
PART-C

(qftr*fud+€i6-{)
(Computerized Accounting)

19. 'sRoft tfrr efilmqtt
What is meant by 'Table' ?

20. i{firstird +ci+i d7 }(r*.r-s'+ sq d 'or{frfu' t mr e{ftErq t z

what is meant by ,procedure, as a component of computerized Accounting System ?

21. q{.q.\rf,.(sQL)HIt ?

What is SQL ?

22. €qfirsfue +€i6{ cun* sr fttt\'.E EtlT flqTqt +qr(TdEq I

Give one advantage and two limitations of Computerised Accounting System'

23. .fidsr+*rde,*ffiqrfirqi*isqgEC 1 4

Explain any four advantages of Data Base Management System 

4 l
24.'er-1-sftr*, ffil-O nqr'ftFr+ dqeaitr*rw t

Explain 'sequential' and 'Mnemonic' codes'

25. Frefrfie-cq++iftqtrMft1,l,nr*-tesqd'ficr{'dwnr+1frs: 6

(€D cffirr+*.fuc, {.fiam 725,crr0ds.20vonqrwtsct25% ql<tt r

(E) tqw( zs,ooon-o*'qa*ctw 157oiln{stsq{ rgo7or,tr, t

Ct; Ea*ca *fuaqr*oqri qffi rmvtgotnqrtqo, qa+r t

calculate the formulae from the following information on Excel for computing the

amounts for :

(a) Dearness Allowance, Basic Pay upto ? 25,000 at2\Vo and above it at 25?o '

O) Tax payable, Basic pay upto t 25,000 at l5Vo and 20Vo above that'

(c) Net salary, adding Deamess Allowance and deducting Tax payable from Basic pay.

&lw t6
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Q.Set  No. Marking Scheme 2013-14 
Accountancy (055) 

Delhi – 67/1/2 
Expected Answers /Value points 

Distribution 
of marks 

67/
1/1 

67/
1/2 

67/
1/3 

7 1 5 Q. Give any one .............................. may be utilised. 
 
Ans. According to the Companies Act,1956 the amount of ‘Securities premium’ may be  
          used only for the following purposes:- (Any one) 
(i)     Writing off the preliminary expenses of the company. 
(ii)    Writing off the expenses, commission or discount allowed on issue of shares or  
         debentures of the company. 
(iii)  Issuing fully paid up bonus shares to the shareholders of the company. 
(iv)  Providing for the premium payable on redemption of redeemable preference shares  
        or debentures of the company. 
(v)   Buying  back of its own shares.  
 

1 mark 

4 2 2 Q. Why heirs..................................... goodwill of the firm? 
Ans. The retiring partner / heirs of deceased partner are entitled to his share of goodwill        
          because the goodwill earned by the firm is the results of the efforts of all the existing   
          partners in the past. As they will not be sharing future profits, it will be fair to  
          compensate them for the same. 
 

1 mark 

6 3 7 Q. What is ....................................... can be reissued? 
Ans.  Discount allowed must not exceed the amount received at the time of forfeiture  
          i.e. amount credited to forfeited shares account  at that time. 
 

1 mark 

5 4 1 Q. Give the....................................... ‘Debenture’. 
 
Ans. Debenture is an instrument acknowledging a debt issued by a company under a     
         common seal.  
                                               [ or any other suitable meaning ] 

1 mark 

3 5 3 Q. Distinguish between......................Closure of books. 
Ans. 

Basis Dissolution of 
Partnership 

Dissolution of 
Partnership Firm 

Closure of Books It does not require 
closure of books 
because the business is 
not terminated. 

All books of accounts are 
closed as the business is 
terminated. 

 

1 mark 

2 6 4 Q. X,Y and Z ...................................... if Z retires. 
 
Ans. The ratio of X,Y and Z is 1/2 : 2/5 : 1/10 =5:4:1 
         Therefore, If Z retires, the new ratio between X and Y is  5:4 
 

1 mark 

1 7 6 Q. What is meant ..............................Partnership Firm? 
 
Ans. Reconstitution of a partnership firm means any change in existing agreement      
         among the partners. 
 

1 mark 
 

9 8 9 Q.  B G Ltd. ....................................... Profit to Loss. 
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Ans.                                                             Books of B G Ltd. 
 Dr.                                                                        Journal                                                                        Cr. 

Date Particulars LF Dr (R) Cr (R) 

2013 
March 31 

Interest on Debentures A/c               Dr. 
     To Debenture holders’ A/c 
      To Income Tax Payable A/c / TDS    
           from Debenture Interest a/c 
(Half Yearly Interest due on 
debentures and tax deducted at 
source) 

 12,000  
10,800 

1,200 

March 31 Debenture holders’ A/c                      Dr. 
     To Bank A/c 
(Payment of Interest) 

 10,800  
10,800 

March 31 
** 

Income Tax Payable / TDS from         
 Debenture Interest A/c                     Dr.    
 To Bank A/c 
(TDS deposited with Income Tax 
authorities) 

  
1,200 

 
 

1,200 

March 31 Statement of P/L                                 Dr. 
   To Interest on Debentures A/c 
(Interest transferred to statement of 
P/L) 

 24,000  
24,000 

 
** NOTE:  No marks to be deducted in case the examinee has not passed this entry. 

 
 
 
 
 
 

1 
 
 
 
 

1 
 
 
 
 
 
 
 

1 
 
 

(1+1+1)  

       = 
3 marks 

 

8 9 8 Q. Saloni and Shrishti...................... Aditi’s admission. 
Ans.   Based on Aditi’s share the total capital of the new firm ought to be: 

                     Rs. 1,00,000 x 6/1 =                          R 6,00,000 

    Less: Capital of Saloni      R 2,00,000 

              Capital of Shrishti  R 1,50,000 

              Capital of Aditi        R 1,00,000              R 4,50,000 

       Value of Goodwill  of the firm                      R 1,50,000  
                      Aditi’s share of goodwill = 1,50,000 x 1/6 = Rs. 25,000 

Journal 
Date Particulars LF Dr (R) Cr (R) 

 (i) Bank / Cash A/c                                        Dr. 
        To Aditi’s Capital A/c 
(Cash brought in by Aditi as her capital) 

 1,00,000  
1,00,000 

 

 (ii)  Aditi’s  Capital A/c                                 Dr. 
        To Saloni’s Capital A/c 
        To Shrishti’s Capital A/c 
(Credit given for goodwill to Saloni and 
Shrishti on Aditi’s admission) 

 25,000  
17,500 

7,500 

 

 
 
 
 
 

1 
 
 
 
 
 

1 
 
 
 

1 
 
 

(1+1+1) 

= 
 3 marks 

 

-- 10 -- Q. Pass necessary ................................. cases. 
     (i)  Pharma Ltd............................................ of 25%. 
Ans.                                                      Books of Pharma Ltd. 
 Dr.                                                                        Journal                                                                       Cr. 

Date Particulars LF   Dr (R)   Cr (R) 

 12% Debentures A/c                                    Dr. 
    To Discount on issue of Debentures A/c 
    To Debenture holders’ A/c 
(Amount due to debenture  holders on 

 2,50,000  
15,000 

2,35,000 

 
 
 
 
 
 
 
 

½ 
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conversion of 2,500 Debentures  ) 

 Debenture holders’ A/c                              Dr. 
    To Equity Share Capital A/c 
    To Securities Premium  / Securities  
        Premium Reserve A/c  
(Amount discharged by issue of 1880 
equity shares at 25% premium )   

 2,35,000 
 

 
1,88,000 

47,000 

 
OR 

Books of Pharma Ltd. 
Journal 

Date Particulars LF   Dr (R)   Cr (R) 
 12% Debentures A/c                             Dr. 

    To Debenture holders’ A/c 
(Amount due to debenture  holders on 
conversion of 2,500 Debentures  ) 

 2,50,000  
2,50,000 

 

 Debenture holders’ A/c                         Dr. 
    To Equity Share Capital A/c 
    To Securities Premium  / Securities  
        Premium Reserve A/c 
(Amount discharged by issue of 2,000 
equity shares at 25% premium ) 

 2,50,000 
 

 
2,00,000 

50,000 

 
(ii)  Jain Ltd. ................................. of 25%. 

Books of Jain Ltd. 
Journal 

Date Particulars LF Dr (R) Cr (R) 

 12% Debentures A/c                                   Dr. 
      To Debenture holders’ A/c 
(Amount due to debenture  holders on 
conversion of 2,000 Debentures  )  

 2,00,000  
2,00,000 

 Debenture holders’ A/c                              Dr. 
   To Equity Share Capital A/c 
   To Securities Premium  / Securities  
        Premium Reserve A/c 
(Amount discharged by issue of 1,600 
equity shares at 25% premium ) 

 2,00,000 
 

 
1,60,000 

40,000 
 

 

 
 

1 
 
 
 
 
 
 
 
 
 
 

½ 
 
 
 

1 
 
 
 
 
 
 
 
 
 
 

½  
 
 
 

1 
 

(1½ x 2) = 
 3 Marks 
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14 11 12 Q. Pass necessary.............................. Rajan Ltd. 
Ans. 

   Rajan Ltd. 
Journal 

Date Particulars L.f. Dr. 

Amt (R) 

Cr. 

Amt (R) 

) a)     Machinery A/c                                             Dr. 
                 To Kundan Ltd. 
( Machinery purchased from Kundan Ltd) 

  7,20,000  
        7,20,000 

         Kundan Ltd                                                  Dr. 
            Discount on Issue of Shares A/c                Dr. 
                  To Equity Share Capital A/c 

(8,000 Equity Shares  of R 100 each issued as 
purchase consideration) 

 720,000 
80,000 

 
 

8,00,000 

  b)     Plant  & Machinery A/c                               Dr. 
         Building A/c                                                   Dr. 
         Sundry Debtors A/c                                      Dr. 
         Stock A/c                                                        Dr. 
         Cash A/c                                                         Dr. 
               To Sundry Creditors A/c 
               To Vikas Ltd 
               To Capital Reserve A/c 
    (Business purchased) 

 90,000 
90,000 
30,000 
50,000 
20,000 

 
 
 
 
 

20,000 
2,50,000 

10,000 

         Vikas Ltd                                                      Dr. 
                  To Equity Share Capital A/c 
                  To  Bank A/c 
     (Shares issued and draft given) 

 250,000  
2,20,000 

30,000 

 

 
 
 
 
 
 
 

1 
 
 
 

1 
 
 
 
 
 

1 
 
 
 
 
 
 

1 
 

(1 x 4) 
 =  

4 Marks 

11 12 13 Q.  Satnam and Qureshi ................................. 31st March 2013. 
Ans. 

(c) Values highlighted: (Any two) 

 Adherence to law to manufacture ISI marked electronic goods. 

 Sensitive towards specially abled  people. 

 Providing employment opportunities to economically weaker section 

 Encouragement to women entrepreneurship.  
          (OR any other suitable value.)   
 

(b) 
P/L Appropriation A/c of Satnaam, Qureshi & Juliee 

Dr.                                            For the year ended 31st March 2013                                   Cr. 

Particulars Amount (R) Particulars Amount (R) 

To Interest on Capital: 
     Satnam’s Capital A/c      25,500 
      Qureshi’s Capital’s A/c  12,300 
 

To profits trsfd to: 
    Satnam’s Capital A/c    1,20,000 
    Qureshi’s Capital A/c    1,20,000 
    Juliee’s Capital A/c           60,000  

 
                 

37,800 
 

 
  

3,00,000 

By P/L A/c 3,37,800 
 
 
 
 
 

 

 3,37,800  3,37,800 

 Working notes: 
Calculation of Interest on Capital: 

c) Interest on Satnam’s Capital: 
(4,00,000 x 6/100) + (50,000 x  6/100 x 6/12) 

= 24,000+ 1,500 = R 25,500 
 

 
 
 
 
 

1x2 
= 
2 
 
 
 
 
 
 
 
 
 

2 
 
 

(2+2) 
= 

4 Marks 
 
 

1 

1 
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d) Interest on Qureshi’s Capital:                                                 
(2,00,000 x  6/100) + (20,000 x 6/100 x 3/12) 

= 12,000 + 300 = R 12,300 
                                                NO MARKS FOR WORKING NOTES 
 

12 13 13 Q.  Virad, Vishad........................................... October 1, 2013 
Ans. 
Dr.                                                       Virad’s Capital A/c                                                Cr. 

Particulars Amount (R) Particulars Amount (R) 
To  Virad’s executor a/c                   
  

5,70,000 
 
 
 
 
 
 

By Balance b/d 
By Reserve fund 
By Vishad  Capital a/c(Goodwill) 
By Roma’s Capital A/c(Goodwill) 
By P/L Suspense A/c 
By Interest on Capital 
 

3,00,000 
30,000 

1,12,500 
75,000 
37500 
15000 

 5,70,000  5,70,000 

                      
Working notes : 
Valuation of Goodwill : 

(3) Average Profit =  R 1,50,000 
Goodwill at 2 ½ years purchase 

 = 1,50,000 x 2 ½ = R 3,75,000 

Virad’s share of goodwill = 3,75,000 x 5/10 = R 1,87,500 
(4) Share of Profit payable to Virad 

(upto the October 1, 2013) 

= 1,50,000 x 5/10 x 6/12 = R 37,500 
                                                   NO MARKS FOR WORKING NOTES 

                                                                                

 
 
 
 
 

½ 
½ 
½ 
1 
1 
 

4 Marks 

-- 14 -- Q. On 1st April ................... for the same. 
 
Ans.                                                     Balance Sheet of Janta Ltd. 

As at ....................(As per revised schedule VI) 

Particulars Note No. Amount  
Current year 

Amount 
Previous year 

EQUITY & LIABILITIES 
I  Shareholder’s funds : 

b) Share Capital 

 
 

1 

 
 

31,50,000 

 

 
Notes to Accounts : 

Particulars Rs. 

(2) Share Capital 
Authorised Capital : 

1,00,000 equity shares of R 50 each 
Issued Capital 

90,000 equity shares of R 50 each 
Subscribed Capital 
Subscribed but not fully paid  

90,000 shares of R 50 each R 35 called up 

 
 

50,00,000 
 

   45,00,000 
 
 

31,50,000 

 
 

 
 
 
 
 
 
 
 

1 
 
 
 
 
 

1 
 

1 
 
 

1 
 

(1 x 4) = 
4 Marks 

½
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-- 15 -- Q.  Abdul,Kadir............................................................................................society. 
Ans.                                              Books of Abdul, Kadir & Kasim  
  Dr.                                                                    Journal                                                                     Cr. 

Date Particulars Dr. Amount (R) Cr. Amount (R) 

 Kadir’s  Capital A/c                       Dr.                                  
    To Abdul Capital  A/c 
    To Kasim’s Capital   A/c 

(Being adjustment entry passed) 

294  
 10 
284 

 
Working notes: 

Particulars Abdul 

(R) 

Kadir  

(R) 

Kasim 

(R) 

Total 

(R) 

Omission of Interest on 
drawings                          (Dr.) 
 Profit                               (Cr.) 

 
700 
710 

 
720 

 426 

 
-- 

284 

 
1,420 
1,420 

Net effect 10(Cr.) 294 (Dr.) 284 (Cr.) --- 

 

  [ alternate solution] 
                                                       Books of Abdul, Kadir & Kasim  
  Dr.                                                                    Journal                                                                     Cr. 

Date Particulars Dr. Amount (R) Cr. Amount (R) 

 Kasim’s  Capital A/c                      Dr.                             
     To Abdul Capital  A/c 
     To Kadir’s Capital   A/c 
(Being adjustment entry passed ) 

916  
 760 
156 

 
Working notes: 

Particulars Abdul 

(R) 

Kadir 

(R) 

Kasim 

(R) 

Total 

(R) 
Omission of Interest on 
drawings                          (Dr.) 
 Profit                               (Cr.) 

 
700 

1460 

 
720 

 876 

 
1,500 

584 

 
2,920 
2,920 

Net effect 760(Cr.) 156(Cr.) 916 (Dr.) --- 

             
   Note: Full credit is to be given for working notes presented in any other form. 
 
Values (any two) :- 

- Help towards needy flood victims. 
- Medical Aid in flood affected areas. 

( OR any other suitable value.) 
 
 

 
 
 
 
 
 

2 
 
 
 
 
 

½ 
½ 
1 
 
 
 
 
 
 
 

2 
 
 
 
 
 
 

½ 
½ 
1 
 
 
 

(1 x 2 ) 
= 2 

 
(2+2+2) 

= 
6 Marks 
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-- 16 -- Q. Jayant and........................................................account.  
Ans. 
                     Realisation A/c 

Particulars Amt  (R) Particulars Amt (R) 

To Debtors A/c                ½   
To Stock A/c 
To Machinery  A/c               

To  Furniture   A/c          ½  

To Bank A/c                       
  Creditors              –  75,000 
  O/s Bill for            -- 38,000 

2,00,000 
20,000 

3,12,000 
20,000 

 
 

   ½    1,13,000    

By Creditors 
By Jayant’s Current /Capital A/c 
By Bank A/c 
Stock                 –     15,000 
Debtors             – 1,90,000 
Unrecorded           -  3,000 
Asset 
Machinery         – 2,37,000 
Furniture               - 20,000 
By loss transferred to 
 Jayant’s  Current / Capital A/c 
Ramakant’s Current/ Capital  
A/c 
 

75,000 
6,400 

 
 
 
 
 
 

4,65,000 
   

59,300 
59,300 

 
 

 6,65,000  6,65,000 
 

 
 
 

 
½ 
1 
 
 
 
 
 
 

2 
 
 

1 
 
 

= 
6 marks 

 
 

18 17 18 Q.   XYZ Ltd. ................................... XYZ Ltd. 

                                      OR 

        AB Ltd.......................................AB Ltd. 

 

NOTE : Full marks are to be awarded for ‘ATTEMPTING’ the question. (whether correctly or  

              wrongly) and it is applicable to both the options ( Discount or Premium)  

 

 

 
 
 
 
 
 

8 Marks 
 

17 18 17 Q.  Mohan and Mahesh ............... by Nusrat. 

Ans. 

          Dr.                                                Revaluation A/c                                                             Cr.                                                                                                                                            

Particulars R Particulars R 

To profit transferred to 

Mohan’s capital A/c    84,000 

Mahesh’s Capital A/c  56,000 

 

 

1,40,000 

1,40,000 

By Building A/c 

By Stock A/c 

 

1,00,000 

40,000 

 

1,40,000 

 

  Dr.                                                 Partners’ Capital A/c                                                              Cr.                                                                                       

Particulars Mohan 

R 

Mahesh 

R 

Nusrat 

R 

Particulars 

 

Mohan 

R 

Mahesh 

R 

Nusrat 

R 

To Balance c/d 

 

 

 

 

 

 

 

 

 

 

  3,92,000 

 

 

 

 

 

 

 

 

 

 

 

  2,08,000 

 

 

 

 

 

 

 

 

 

 

 

1,20,000 

 

 

 

 

 

 

 

 

 

 

 

By Balance b/d 

By  revaluation 

A/c 

By General 

Reserve A/c 

By Workmen 

Comp. Fund A/c 

By premium for 

goodwill A/c 

By Cash A/c 

1,00,000 

 

84,000 

 

96,000 

 

12,000 

 

1,00,000 

- 

 

 

80,000 

 

56,000 

 

64,000 

 

8,000 

 

- 

- 

 

 

- 

 

 

- 

 

 

- 

 

- 

 1,20,000 

 

 

 
 
 
 
 
 
 

2 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1x3  
=  
3  
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 3,92,000 2,08,000 1,20,000  3,92,000 2,08,000 1,20,000 

 
 

Balance Sheet of the Reconstituted firm 

as at 1st April 2012 

Liabilities Amount (R) Assets Amount (R) 

Creditors 

Claim for Workmen Comp. 

Capital: 

Mohan –    3,92,000 

Mahesh –  2,08,000 

Nusrat –     1,20,000 

 

2,10,000 

2,30,000 

 

 

 

 

7,20,000 

11,60,000 

Cash in Hand 

Debtors 

Stock 

Machinery 

Building 

 

 

 

3,60,000 

1,60,000 

1,60,000 

1,00,000 

3,80,000 

 

 

11,60,000 

 

Working Notes:    Capital Adjustment 

 

Nusrat’s Capital = (Mohan’s capital + Mahesh’s capital) x 20/100 

                             = (3,92,000 + 2,08,000) x 20/100 

                              = 6,00,000 x 20 /100 = 1,20,000 

 

 
 
 
 
 
 
 

2 
 
 
 
 
 
 
 
 
 
 

1 
(2+3+2+1) 

= 
 8 Marks 

 18 
OR 

 Q.  Kushal, Kumar………………………………  Kavita’s retirement. 
Ans.                                                             Revaluation A/c 
     Dr                                                                                                                                                      Cr 

Particulars Amt (R) Particulars  Amt (R) 
To Building 
To Furniture 
To Reserve for doubtful     
      debts 

1,00,000 
20,000 

5,000 

By  Land 
By  Loss transferred to      
       Partner’s Capital A/c 
                    Kushal  - 3000 
                    Kumar – 1000 
                    Kavita – 1000 

1,20,000 
 
 
 
 

5,000 

 1,25,000  1,25,000 
Partners’ Capital A/c 

Particulars Kushal 

(R) 

Kumar  

(R) 

Kavita 

(R) 

Particulars Kushal 

(R) 

Kumar 

(R)  

Kavita 

(R) 

To Revalution 
A/c 
To Kavita’s 
Capital A/c 
To Cash A/c 
To Kavita’s 
Loan A/c 
To Kumar’s  
Current A/c 
To Balance c/d 
 

3,000 
 
 

6,000 
 
 

--- 
--- 

 
 

4,98,000 

1,000 
 
 

2,000 
 
 

--- 
--- 

 
1,35,000 
1,66,000 

 

1,000 
 

--- 
 
 

33,100 
 

2,97,900 
 

--- 
 

By Balance b/d 
By General  
Reserve A/c 
By Kushal’s 
Capital A/c 
By Kumar’s 
Capital A/c 
By Kushal’s 
Current A/c 

3,00,000 
 

72,000 
 
 

--- 
 
 
 

1,35,000 

2,80,000 
 

24,000 
 
 

---- 
 
 
 

--- 
 

3,00,000 
 

24,000 
 
 

6,000 
 

2,000 
 

---- 

 5,07,000 3,04,000 3,32,000  5,07,000 3,04,000 3,32,000 

 
 
 
 
 
 
 
 

 
 
 
 
 
 

2 
 
 
 
 
 
 
 
 
 
 

1x3  
=  
3  
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Balance sheet of the Reconstituted firm 

As at 1st April, 2012 
 

Liabilities Amount 

 (R) 

Assets Amount (R) 

Creditors 
B/P 
Kavita’s Loan A/c 
Capital A/c 
                Kushal – 4,98,000 
                Kumar – 1,66,000 
 
Kumar’s Current A/c 
 

1,20,000 
1,80,000 
2,97,900 

 
 

6,64,000 
 

1,35,000 
 

Cash 
Debtors               – 2,00,000 
Less : - Provision –  15,000 
Stock 
Furniture 
Building 
Land  
Kushal’s current A/c 

36,900 
 

1,85,000 
2,20,000 
1,00,000 
2,00,000 
5,20,000 
1,35,000 

 
 
 

 13,96,900  13,96,900 

Working Notes 

Capital of Kushal before adjustment= R3,63,000 

Capital of Kumar before adjustment= R3,01,000 

Total capital                                           = R 6,64,000 

Kushal’s adjusted capital= ¾ x R6,64,000= R4,98,000 

Kumar’s adjusted capital= ¼ x R6,64,000= R1,66,000 

 
 
 
 
 
 
 
 
 
 
 
 

3 
 
 
 
 
 
 
 
 
 

(2+3+3) = 
8 Marks 

 
 

21 19 20 Q.  State any ................................ financial statement.    

Ans. Limitations of financial statements: (Any one) 

 Affected by window dressing.                       

 Lack of qualitative analysis. 

 Does not reflect changes in price level. 

 Different accounting policies. 

 Historical Analysis. 

 Suffers from limitations of financial statements. 

 Not free from bias. 

 Identifies only symptoms. 

1 Mark 

19 20 21 Q. What is ................................... Cash Flow Statement? 

 

Ans. Cash Equivalents mean short term, highly liquid investments that are readily convertible     

          into known amounts of cash and which are subject to insignificant risk of changes in  

          their values. 

1 Mark 

20 21 19 Q. State the objective.................flow statement. 

 

Ans.   Objective of cash flow statement:  (Any one) 

(a)To provide information regarding sources and uses of cash from operating, investing and 

financing activities separately.       

(b)To highlight change in cash position.            

1 Mark 

22 22 22 Q. Under which .......................... Companies Act, 1956. 

Ans. 

S.No. Items Sub – Heading 

1 Accrued income Other current assets 

2 Loose Tools Inventories 
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3 Provision for Employee benefits Long term provisions 

4 Unpaid Dividend Other current Liabilities 

5 Short term loans Short Term Borrowings / 

Short Term Loans & 

Advances 

6 Long term loans Long Term Borrowings / 

Long term loans & 

advances 
 

½ x 6  
=  

3 Marks 

-- 23 -- Q.   From the following ............................................................................. Vidya Ltd. 

Ans. 

COMPARATIVE STATEMENT OF PROFIT & LOSS of Vidya Ltd. 

For the years ended 31st March’2012 and 2013 

 

Particulars Note 

No. 

2011-12 

(R) 

2012-13 

(R) 

Absolute 

Change 

Change 

In %age 

Revenue from  Operations 

 Add: other income 

 1100,000 

3,00,000 

14,00,000 

4,00,000 

3,00,000 

1,00,000 

27.27% 

33.33% 

Total Revenue (I + II) 

 Less: Expenses 

 14,00,000 

12,00,000 

18,00,000 

11,00,000 

4,00,000 

(100,000) 

28.57% 

(8.33%) 

Profit before Tax  (III – IV) 

Less:   Tax @ 50% 

 2,00,000 

1,00,000 

7,00,000 

3,50,000 

5,00,000 

2,50,000 

250% 

250% 

Profit after tax  1,00,000 3,50,000 2,50,000 250% 
 

 
 
 
 
 
 
 
 
        1 
 
 
        1 
 
        1 
 
        1 
 
 
(1 x 4) =  
4 Marks 

-- 24 -- Q.  (a) From the following .................................. DEBT Equity Ratio. 

Ans. 

                           Debt Equity ratio = Debt / Equity      

 

          Debt = Long term borrowings + Long Term Provisions = R 4,00,000 + Rs.2,00,000 

                                                          =  R 6,00,000 

          Equity = Current Assets + Non Current Assets – Debt -Current Liabilities  

                        = 1,80,000 +7,20,000 -600,000 -1,00,000 = R 2,00,000 

 

                                    Debt Equity ratio = 6,00,000/ 2,00,000 = 3:1 

 

(a) The Current Ratio................................ change the ratio . 

 

           CHANGE                                                        REASON 

 (1)    No change     :      Neither  Current Assets  nor  Current Liabilities are changing . 

 (2)    No change     :      Neither  Current Assets  nor  Current Liabilities are changing . 

 

 
 

½  
 
 

½  
 
 

½  
 

½  
 

 
 

 
 

1 
1 
 

(2+2)  
=  

4 Marks 
 

25 25 25 Q.  Prepare a Cash flow Statement ............... 31-3-2013 and 31-3-2012. 

Ans.  

 

 

 
 
 
 



25 

 

 

 

Cash flow statement of Liva Ltd. 

For the year ended 31st March 2013 as per AS-3 (Revised) 

Particulars Details (R) Amount (R) 

Cash Flows from Operating Activities: 

Net Profit before tax & extraordinary items 

 Add: Non cash and non-operating charges 

Operating  profit before working capital changes 

 Add:  Increase in Current Liabilities 

 Increase in trade payables 

 Less:  Increase in Current  Assets 

Increase in trade receivables 

Increase in inventories 

Cash  generated from Operating Activities 

Cash flows from Investing Activities : 

Purchase of  fixed  assets 

Purchase of non  current investments 

Cash used in investing activities 

Cash flows from Financing Activities: 

Issue of share capital 

 Cash from financing activities 

 

Net increase in cash & cash equivalents 

    Add: Opening balance of cash & cash equivalents: 

                  Marketable Securities 

                  Cash & cash equivalents 

 

     Closing Balance of cash & cash equivalents: 

                   Marketable Securities 

                  Cash & cash equivalents 

 

 

1,08,000 

- 

1,08,000 

48,000 

 

(22,500) 

(83,000) 

 

 

(42,000) 

(30,000) 

 

 

30,000 

 

 

 

 

60,000 

9,500 

 

 

54,000 

24,000 

 

 

 

 

 

 

 

 

 

50,500 

 

 

 

(72,000) 

 

 

30,000 

8,500 

 

 

 

69,500 

 

 

 

78,000 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

2 ½ 
 
 
 
 

1 ½ 
 
 

1 
 
 
 
 
 
 

1 
 
 
 
 
 
 

 6 Marks 
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   PART C 
(Computerized Accounting) 

 

20 19 21 Q. What is………………Table? 

Ans.  It is a data base object which is used to hold raw data. The tables are created 

with respective fieldnames, data types and properties. 

1 Mark 

21 20 19 Q. What……………………………………..system? 

Ans. A series of operations in a certain order or manner to achieve desired results, the 

accounting procedures can be hardware oriented, software oriented or internal 

procedures. 

1 Mark 

19 21 20 Q. What is SQL? 

Ans. It is a language used to store and manipulate data or create a complex set of 

data base structure. 

1 Mark 

22 22 22 Q. Give one……………………system. 

Ans. Advantages of Computerised Accounting System (Any one) 

1. Timely generation of reports and information in desired format. 

2. Efficient record keeping. 

3. Ensures effective control over the system. 

4. Economy in the processing of accounting data. 

Limitations (Any two): 

5. Faster obsolesce of technology necessitates investment in short period of 

time. 

6. Data may be lost or corrupt due to power interruptions. 

7. Data are prone to hacking. 

Un-programmed and un-specified reports cannot be generated. 

 
 
 

1 
 
 
 
 
 

2 
 
 
 

(1+2) = 3 
Marks 

24 23 24 Q. Explain any four……………….System. 

Ans. Advantages of ‘ Database management ‘ (Any four) : 

7. Ready availability from one central source. 
8. Minimum data redundancy. 
9. Reduced programming effort. 
10. Facility of preparation of special purpose reports. 
11. Greater consistency. 

One transaction input updates multiple data base records leads to minimising input 

efforts. 

 
 
 
 
 
 
 
 

(1x4) = 4 
Marks 

23 24 23 Q. Explain…………………………………..codes. 

Ans. Sequential Codes: In these codes numbers and/or letters are assigned in 

consecutive order. These codes are applied primarily to source documents such as 

cheques, invoices etc. This code facilitates document searches. This process enables in 

either identification of missing codes (numbers) relating to a particular document or a 

relevant document can be traced. 

 

Mnemonic Codes: These codes consist of alphabets or abbreviations as symbols to 

codify a piece of information. SJ for sales Journal, HQ for Head Quarters are examples 

of mnemonic codes. 

 
2 
 
 
 
 
 
 
 

2 
(2+2) = 4 

Marks 
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- 25 -- Q. Calculate…………………………….. Basic pay. 

Ans.  

i. Dearness Allowance =IF( B1>25,000, 0.25*B1, 0.2*B1) 

ii. Tax Payable =IF(B1>25,000, 0.2*B1, 0.15*B1) 

iii. Net Salary =SUM(B1,C1--D1) 

 
 
 

(2x3) = 6 
Marks 
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